Group 1

Table1 C Rank
R IR E 6 27 | W 2
RLBF | 6w w |
IH 2 8 28 | 22 3

Group 2

Table3 SL Ap B C Rank
= E— 6 w | 22 2
& H 554 6 30 w 1

FH ESRF 6 W | 18 2
Group 3

Table6 SL Ap B C Rank
Vi 7 wo|ow 1
=i B 6 13 20 3
Fn/K PE1T 6 27 | W 2




Group 4

Table8 C | W - L [Rank
R R 1&& 8 w |2 |[1-1]2
o B 7 34 3 |0 - 2| 3
%) (=3 6 W | w 2 - 0|1

Group 5

Table11 C | w L |Rank
R R 6 w2 |1 -1]2
A BR 6 28 2|0 - 2|3
Rk m— 8 w | W 2 - 0|1

Group 6

Table13 SL Ap B C | W - L [Rank
A% ¢ 7 37 | w |1 - 1|2

HS 8 8 w W |2 -0]1
INER B3RS 7 16 | 16 0 - 2|3




Group 7

Table16 C | W - L [Rank
YrH th 7 37 | w |1 - 1] 2
E 6 W 21 |1 - 1| 1
BA%F X— 6 20 | W 1 -1 |2
Group 8
Table5 SL Ap B C | w L |Rank
SF T 6 15 | 27 [0 - 2|3
¥H 558 7 W w2 -0]r1
1% 1IE 18 7 W | 35 1 - 1|2
Group 9
Table7 SL Ap B C | w L [ Rank
&R =— 8 w |32 |1 -1]1

AR =0 7 24 w1 - 1]2

2H xR 8 w | 33 1 - 1| 2




Group 10

10 Table10 C Rank
A IRA BE 7 15 | W 2
B HESE 6 w w 1
c| #HELHY 6 29 | 1 3
Group 11
11 Table12 SL A B C Rank
A BB E#E 7 w | 36 2
B R FEX 6 18 w ]
C ;= IS 6 W | 20 2
Group 12
12 Table15 SL A B C Rank
A RH & 6 w | 22 2
B| #)l| EXEB 6 26 w 2
< ¥ 1hfE 7 0w |22 1




Group 13

13 Table17 C Rank
A 1R E— 8 39 | w 2
B BES% 8 w 27 1
C Vg et 6 16 | W 3
Group 14
14 Table18 SL A B C Rank
A 518 1F3l 8 34 | W 1
B B —5 6 W 17 2
C R Bt 7 3% | w 2
Group 15
15 Table20 SL A B C Rank
A ZAH %t 8 29 | w 2
B 1B tht 6 W w ]
c| KARMNE |6 12| 9 3




Group 16

Table21 A-B | W - L |[Rank

BAREAN 7 27 |38 | 8 |1 - 2|2

A th3= 6 32| 25 | 32 |2 - 1|1

2 H 1%} 6 L | L 0 - 2|3

Group 17

Table22 C w L | Rank
SE RE 8 31 | 2|0 - 23
%k =N 7 W 1511 - 1] 2
A7t #t 6 W | w 2 - 0| 1
Table3 SL A B cC | w L | Rank

R E 4% 8 41 | 41 |0 - 2|3

FRER I 6 W w2 -o0/ln1

FH —Bk 7 W | 3 1 - 1] 2




Group 19

19 Table6 C Rank
A ey Ny 8 w | w 1
B EA H 6 28 16 3
C IEH R Z 6 W | 24 2
Group 20
20 Table8 SL A B C Rank
A YA 6 W | w 1
B LLIHE 1&5] 7 27 w 2
C Hoh 3117 7 35 | 36 3
Group 21
21 Table11 SL A B C Rank
A AR M= 6 17 | 27 3
B Z8 £7 8 W w 1
C LRSS 8 Ww |35 2




Group 22

Table13 C | W - L [Rank
IZNE S 8 W | 14 |1 - 1]2
KE 1IE3R 8 35 28 |0 - 2|3
)= 7 W | w 2 - 0| 1

Group 23

Table16 cC | w L | Rank
Eiﬁ %A 7 w w 2 - 0|1
a5 Fi= 8 35 27 | o - 2| 3
=H &5 8 42 | w 1 - 1|2
Table5 SL A B cC |w L | Rank
£R=E 7 wlw/|2-o0]1

<A &8 8 32 17 o - 2|3

TIER thif 8 18| w 1 - 1] 2




Group 25

25 Table7 C Rank
Al EEBE 7
B| BRI FE 6
C T2 T 6
Group 26
26 Table10 SL A B C Rank
A FIS 16 7 26 | w 2
B KEBEE 7 0w w ]
C 222 8 13| 39 3
Group 27
27 Table12 SL A B C Rank
A HH TS 8 W | 16 2
B (k% ek 7 W 36 3
C N 7 0w | W 1




Group 28

28 Table15 C Rank
Al EY) 2 wo| w 1
B 2E % 17 21 3
. A 1n | ow 2
Group 29
29 Table17 SL A B C Rank
A EERT
B| fHIFR A
« = H JiiE
Group 30
30 Table18 SL A B C Rank
A o[ 3|8 20 | w 2
B mAs fRfa w w 1
c| Z8EKER 24 | 23 3




Group 31

31 Table20 C Rank
A kA= 8 w | w 1
B & &EHA 6 13 1 3
C RH 25 7 18| w 2
Group 32
32 Table21 SL A B C Rank
A —2 sk 7 14 | 20 3
B a3 145 7 0w w 1
« hnig {F 7w |37 2
Group 33
33 Table22 SL A B C Rank
Al INABREFESE 8 31 | 38 3
B Aa &b 7 W w ]
C FiR 1H@ 6 W | 30 2




Group 34

34 Table SL A B C D Rank
A 2 g 7 37 | W | 32 3
B 5 It E) 6 W w | w 1
C HEEF 6 15 | 18 w 2
D| fHFXBA 6 W | 11 | 24 3




